mitra

cabinet systems

LIN-XN

INSTALLATION

DOCUMENT
(800)




UPPER CHASSIS
BACK COVER
SIDE PEDIAMENT
DEVICE VERTICAL HOLDER
UPPER SIDE COVER
LOWER SIDE COVER
MIDDLE PART
ORGANIZER
LOWER CHASSIS
GLASSED FRONT DOOR
DEVICE VERTICAL ROD
PRE-FRONTAL
SIDE PROFILE
BRACKET PART
FAN
WHEELSET
BRUSH HOLDER

S I NN RS D Y D) BN
\ICT\U'I-bU.)I\)_\OQOO\IOWU'I-waA

M102-LINX-H42U8080 ASSEMBLY

A .
2 mitra

8 / ) 5 4 3



s

DETAL A

caster set

DETAIL A DETAIL B - leveling feets

top view

For the assembly of the caster set to the lower chasis, first of all, it is fixed with a screw
from the top, and a nut is inserted from the bottom.

mitra

cabinet systems

DETAIL C

After fixing

ASSEMBLY STAGE 1



s mitra

cabinet systems . CORNER SUPPORT PART,
- dpn* CHASSIS AND PROFILE INSTALLATION IS MADE
There are four vertical profiles. '
“ \ ;
vertical profile - O o - It
s [ Lo i

_DETAYC
| OLCEK1:5

L
& .
[ Y o
44
T2

After fixing

+ Fix the vertical profiles to the places indicated on the upper and lower chassis with screws.
* These points are the places on the sub-chassis where the drive-in nut is placed. ASSEMBLY STAGE 2



s mitra

cabinet systems

W _ER_EN_GU_UU_WUu_uT_& %

T_UE_UU_uu_%T

There are six points
on the frontal.

e )

e

L=

frontal

after fixing

Place the part on the sides of the chassis as indicated in the figure.
Hole centers will match through the chassis.

Fix it inside the chassis with screws.

Fixing will be done from six points for each frontal.

ASSEMBLY STAGE 3



é, mitra

cabinet systems

frontal

ﬁ=-.=—-—-=§=‘==

after fixing

«  There are four front pediments. It is placed in the places indicated on the chassis.
«  The hole centers in the frame and pediment match.

«  Fixing is done with screws to the foreheads from inside the chassis.

ASSEMBLY STAGE 4



é. mitra

cabinet systems

DETAY |
OLGEK 2: 3

e PLINTH MODULE CAN BE MOUNTED WITH M8 KEY HEAD SCREW

ASSEMBLY STAGE 5



é, mitra

cabinet systems

/ vertical rod holder

/If'f'l—l'l‘l"\-...“‘_
front view
"'“.'--h
x oy
| . i
: - =
| il Il
7, i _F—F— =
]
L] 1

representation of hole axis

e  There are four device strut holders in the assembly.
e Two of them are mounted on the upper chassis, and

two on the lower chassis.
Each part has four screw holes.

After positioning the part on the chassis, fix it with a
screw.

after fixing

ASSEMBLY STAGE 6



Y X e
Z:mitra

pass the side arm
lock to the part
indicated on the

profile.\

after fixing

There are two side arms in

the assembly.

Mounted as specified.
Fixed with M8 screw and
nut.

ASSEMBLY STAGE 7



é, mitra

cabinet systems

M8 screw

M8 nut

) " display of assembly axis

fixed with a nut
from the outside

exploded view after fixing

e The support parts are fixed on the side brackets with screws and nuts as shown in the figure.
e The distance between the outer surfaces of the two parts is 550mm.

ASSEMBLY STAGE 8



(Y X e
Z:mitra

There are four device vertical rods in the box.
Make the assembly as specified.
Three point of contact are given for each device vertical rod.

Fix the device vertical rods on

the ground side brackets and
support brackets with M8
screws.

1.point of contact

-
& T

[,

1

v

Lo |

2.point of contact T T T T —

after fixing

3.point of contact

ASSEMBLY STAGE 9



é, mitra

cabinet systems

{

1.point of contact

_J:-I"_._._._._._._._._._"L;l-_

front view

3.point of contact

organizer

e« Aspace as much as the organizer has been left in
front of the front side device uprights.

*  Fix the organizers at the three specified points with
M8 screws and nuts.

ASSEMBLY STAGE 10



é, mitra

cabinet systems

AFTER FIXING
A
/ \ .

a0

AN/ /4

i N
i
[ 4 ! i
- { g i
i <\ f
N7 ) }
Do the fixing at E !f? J i
the places : ! i
shown. E 5 ﬁ:
=il 5 as
il 1 1
i 2 |
il 4
| |
capscrew t ﬁ:
|
E ,' . -y
31 Z
Gl ﬁf'—"-il-{ i
N

N e e e B Tl e e =,
.

f
ﬂ/é
TN
h%,.:d p bottom cover
. N
first stage For side cover mounting;

Fixing will be done in two places.

First, the holes on the bottom of the cover will be fixed with
=z the cover captive screw.

holderscrew «  The second is the lock hole on its side, and the cover will be

fixed to the profile with a carrier screw.

ASSEMBLY STAGE 11



s mitra

cabinet systems

axes of holes

tower bolt

____afterfixing

T, e e,

For mounting the upper side cover;
e Place the cover as shown.
e There are two holes on the underside of the cover.

e Secure it with the screw shown through these holes.
 Lock with the upper locks.

upperiside cover

ASSEMBLY STAGE 12



smitra

@ @ O cabinet systems

' ©
e hinge used to - ; :
fix %ghe door T } Cf/

For rear door mounting;

6 spring hinges are used in total.

Two of them will come to the middle part.

The hinges mentioned come to the right side and are fixed to the middle part.
Secure by pulling the hinges in the direction indicated.

After fixing, the lock is locked.

If you want to use it by opening the door, you can leave the middle hinges offline.

after fixing
back view

ASSEMBLY STAGE 13



é, mitra

cabinet systems

spring hinge

pull down
N

There are a total of
four hinges at the
top and bottom.

\ :
| —

window moulding
after fixing

For front door installation;
e The parts are glazed.
plastic hinge socket  Two hinges are used for each side. (bhottom and top)
e  After placing the parts, fix the hinges by pulling them in the indicated direction.

ASSEMBLY STAGE 14



é, mitra

cabinet systems

fan module

after the fan is installed

-Fixing is done from four points.
-The assembly steps are given in the
figure.

-The fan protection plate is fixed to
the holes specified on the

upper chassis with screws.

ASSEMBLY STAGE 15



¥ @ ® cabinet systems

\

“

put in place

For brush assembly;

« Place the brushes on the upper

chassis and lower chassis as shown
in the figure.

7

* There are three brush places on the
upper chassis.

e The final installation process is also
completed.

after fixing

ASSEMBLY STAGE 16



